Find the area of Circle C.
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c? = a® + b? - 2abcosC

What information is needed in order to
use the Law of Cosines to find a missing
side?

The other two sides and the angle
that is opposite of the missing side.

Sec 14-5: Law of Cosines

@= a® + b? - 2abcos

This angle and side must be opposite
of each other in the triangle.

Use the Law of Cosines to find the measure of x to the
nearest tenth
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c®=a’+b?-2abCosC

What information is needed in order to
use the Law of Cosines to find a missing
angle?

All three sides

Find the measure of x to the nearest tenth.
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then you can use either Law of Sines or Cosines to find angle x.
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OR

Use the Law of Cosines to find the measure
of x to the nearest tenth.
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You can now finish Hwk #39 Sec 14-5
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Problems 1, 2, 7, 8, 14, 26



